<d @> (rad)
o
=
a1

0.05]

-0.05

-0.15

o
TIT [T T [ TI T[T T[T I T I T[rrrT

x107°

-0.2

Ratio

0.95!

-2

-1 0 1 2 3
TP n (PCA to beamline)

< o cot(y) >

............

............

0.95!

-2

-1 0 1 2 3
TP n (PCA to beamline)

—s=— DQM_V0001_R000000001__Global__mkFit10000__RECO

—— DQM_V0001_R000000001__Global__mkFit1000__RECO

100

@
(@)

LI L L L L L L L §

2]
(@)

< 00, > (M)

N
o

20

RatioI

0.95

-2

........................... b
4 : :
Hﬂ'aﬁ; ,,,.p.!,-..,,;,?t’., ") ‘?ﬁﬂ
-1 0 1 2 3

TP n (PCA to beamline)

<0 / > (Y
PP, > (Y0)
O = N W N O

...............................

—_—

........................................

T

2 -1 0 1 2

3

TP n (PCA- to beamline)

100

—~

.......................

...............................

RatioI

0.95

-2

-1 0 1 2 3
TP n (PCA to beamline)



	Contents
	Page 1


